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1
1.1
MANUCHO9. f8r ( )
1.2
17 3
1.3
1.4
2 856 525
% 390) 'fé 2
L]&l T
800 |500
%191 [B{Z : mm]
2600
B 5000(mm)

1.5
o ck 18  (N/mm?)
o ck 18 (N/mm?)
o ck 21 (N/mm?)

SD295
30.00 ( )

FORUMS8




1.6
€Y)

1.7
[1]

(KN/m*)
22.500
23.000
10.000
17.000 18.000
17.000 18.000
3000
1:1.500 3
/
/
/
//,//
/
!/
!/
//
!/
/)
N
/A
/ \
// \
Vi \
A A
(m) 0.000
1.500
(m 2.000
Hr (m) 0.000
WP P P P T T Y
/
/
/////
!/
!/
/!y
/!y
!/
!/
/
X
/ \
4 \
// \
o ___ A

FORUMS8



1.8

1.9

1.10

1.10.1

1.10.2

(KN/m?)
(m) (m
3.000 0 10.000 10.000 |o |o |x
)
20.000 20.000 20.000 20.000
-30.964 ( )
18.420 ( )
-30.964 ( )
18.420 ( )
tang 0.700
c  (kN/m*) 200.000
tang 0.00
c (KN/m*) 200.000
( ) 0.00
(a B)
(m) (KN/m°)
Ds Y1 Y 2
0.000 20.0000 0.0000
D (m)
Y (kKN/m*)
Y 2 (kN/m*)

FORUMS8



1.11

1.11.1

1.11.2
€))

D

@

D

2)

€s B
(m)
1/6 1.500
B (m)
s (m) es Mg V
Ms (kN.m)
Vv (kN)
(N/mm?)
O O s T a T =2
1.00 7.000 180.000 0.360 | 1.600
T al
T a
(N/mm?)
0« 0w Ta
1.00 4.500 0.230 0.330
(N/mm?)
o 0w Ta
1.00 4.500 0.225 0.220

FORUMS8



2
2.1
@
1)
4
3
5
/L_m
/ \
/ \
/ \
// \\
L \
2)
™ Vi Xi | Vi vi
/3 1 1 1 1
x x vi@m) Xi vi
1| 1/2x 0.386x 0.232x  1.000 0.045| 1.801| 2.163| 0.081|  0.097
2| 1/2x 0.139x 0.232x 1.000 0.016 | 1.976 | 2.163| 0.032| 0.035
3 3.381x 4.760x 1.000 | 16.094 | 3.234 | 4.620 | 52.055 | 74.352
4| -1/2x 2.856x 4.760x 1.000 | -6.797 | 2.496 | 5.413 | -16.966 | -36.796
5| -1/2x 2.856x 4.760x 1.000 | -6.797 | 3.973 | 3.827 | -27.004 | -26.009
> 2.560 8.197 | 11.679
XG > Vi Xi 2 Vi 8.197 2.560 3.201 (m)
Y6 I Vi Yi ZVi 11.679  2.560 4.561 ()
XG 1.739 (m), Y6 2.120 (m)
77
/
/ 7/
/
/7
/ 7
/7
/7
/ 7/
/
/
/ 7/
/
/ 7/
/
/
/
@ Vi Xi | Vi vi
Py ] ] 1 1
x x vi(m) Xi Yi
1] 1/2x 1.200x 2.000x 1.000 1.200 | 0.800 | 0.667 | 0.960 |  0.800
2 0.734x 2.000%  1.000 1.468 | 1.567 | 1.000 | 2.300 |  1.468
3|  1/2x 0.666x 2.000x 1.000 0.666 | 2.156 | 0.667 | 1.436 | 0.444

FORUMS8



(m L L
< < vVi(m) % Vi Vi Xi Vi Yi
4 1/2x 0.144x 0.240x  1.000 0.017 1.296 2.080 0.022 0.036
5 0.200x 0.240x  1.000 0.048 1.444 2.120 0.069 0.102
6 1/2x 0.390x 0.240x  1.000 0.047 1.674 2.080 0.078 0.097
3 3.446 4.866 2.947
X6 X Vi Xi @ ZVi 4.866 3.446 1.412 (m)
Y6 T Vi Yi ZVi 2.947 3.446 0.855 (m)
2.2
@
[1]
Wy v X
(kN) (m
22.500 x  2.560 57.609 1.739
23.000 x  3.446 79.260 1.412
2.3
[1]
Xp 1.930 m
yp 2.000 m
H 5.000 m
H1 5.000 m
H2 0.000 m
a -30.964 °
y s 17.000 kN/m?
0 30.000 °
B 0.000 °
> 3¢ 20.000 °
BE S A EEHLRAR SR T,
X \'o2 X\l /X 2 [ X
I, = 1+|— | ——{1+(— | {tan!|— |——|—
H, T H, H, 7 \ Hy
1941\ 2 1.941\°]  /1.941 2 [1.941
= 1+ - tan’ -
4.992 T 4.992 4.992 m | 4.992
= 0.63183

B AR E DR S A
@ = vy *H I,
= 17.000X2, 588X 0. 63183
27.801 kN/m?

Qu

FORUMS8



pl

p2=
= 0.1164X17. 000X 5. 000+3. 236

p3

Pl

P2

Ph

Pv

X m X1 X2 2

X1 (m), X1 0.000
X2 m), X2 3.882
H, (m

He Ho  Hi(m)

Ho (m H  2.000

H, (m) H q vy 0.588
q (kN/m») g 10.000

cos’(¢p —a)

cos’a *cos(a+0)

sin(¢p+6) * sin(o — 8)
1+
X/cos(aJrﬁ) ccos(a—f)

cos’(30.00° —-30.964° )

c0s’=30. 964° -+ cos(-30.964° +20.000° )
1

X

T

2
i+ sin(30.00° +20.000° ) + sin(30.00° —0.000° )
cos (=30.964° +20.000° ) « cos(-30.964° —0.000° )

0.1164

q K 27.801x 0.1164 3.236 kN/m?

K+ ys+Hl+pl

13.128 kN/m?

p2 13.128 kN/m’

P1 P2 40.909 0.000 40.909 kN

P cos(a &) 40.909% cos(-30.964°  20.000° )

P sin(a 8) 40.909% sin(-30.964°  20.000° )

1
— + (pl+p2) -H1L = EX< 3.236+ 13.128) X 5.000 = 40.909 kN

1
— « (p2+p3) -H2 = EX< 13.1284+ 13.128) X 0.000 =  0.000 kN

40.162 kN

-7.780 kN

FORUMS8




X 1.739 m
2.120 m
' O O I I
1—7///
/
/7
/
//
/
// //
/7
/7
// //
/ /
/ 7/
L_\‘- . 162
/oI
VA=
/ S\
// \\
Y A A
Xp 2.600 m
yp 0.000 m
H 7.000 m
a 18.420 °
o -30.964 °
y s 17.000 kN/m?
(0] 30.00 °
o 2 30 20.000 °
Wi 10.00 ° 85.00 °
(w) ) ®
hw 0.000 m
W(KN)

W) P (kN)
46.00 | 475.662 0.000 33.664 | 509.326 112.425
47.00 | 452.822 0.000 30.678 | 483.500 113.036
48.00 | 430.713 0.000 27.789 | 458.502 112.993
w 47.00° P 113.036 kN

FORUMS8



Ph

Pv

Wesinfw—¢)—Prrcos{o—d—ao—9)

cos(to—¢p—a—190)

483. 500 X sin(47. 00° —30.00° ) —40. 909X cos (47. 00° —30.00° —-30.964° —20.000° )

cos(47.00° —30.00° —18,420° —20.000° )

113.036 kN

P cos(a &) 113.036x cos(18.420°

P sin(a &) 113.036x sin(18.420°
o __EE_ 3Hi+H, 2,000 3X5.00042.000
R TET) 3 2X5.000-+2. 000

Xp Ho tana 2.600 0.944x tanl8.420°
yp Ho 0.000 0.944 0.944 m

ZiZ,
H o EEBHERED HEAEH S & (m)
Hy o FiesE D - E/ERA & S (m)

20

20

.000° ) 88.562 kN

.000° ) 70.242 kN

0.944 m

2.285m

FORUMS8
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2.4
@
[11
/7
/7
i
/7
/7
/s
/
/
// //
i
/7
/
A/
/
/
S
/ \
Vi \
/
/
/ \
/
Y A 2
(kN.m)
Ne (kN) Hi (kN) X (m) Yo [ Me Ne X M HooY
136.869 0.000 1.550 0.000 212.106 0.000
-7.780 40.162 1.739 2.120 -13.530 85.144
70.242 88.562 2.285 0.944 160.536 83.642
199.331 128.724 359.112 168.786
N, Ho M,
(kN) (kN) (KN.m)
199.331 128.724 190.326
2
Ne N (kN)
He  Ho (kN)
M. No B; 2.0 M, (kN.m)
B, 2.600 m
|
Ne H. M.
(kN) (kN) (kN.m)
199.331 128.724 68.805
" (5.000m)
Ne He M.
(kN) (kN) (KN.m)
996.655 643.622 344.023

FORUMS8
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2.5
2.5.1
4 = 2Mr— XMt
pIRY
d (m
> Mr (kN.m)
> Mt (kN.m)
Vv (kN)
B
e = ——d
2
(m
(m), B 2.600
e.. B n
€. (m)
n
3 Mr 3 Mt TV d e €.
(kN.m) (kN.m) (kN) (m) (m) (m)
359.112 168.786 199.331 0.955 0.345 0.433
2.5.2
1+q3 24+q3
Hk = % L1 - tand + 0 12 tangatc - L1
Hk (kN)
ql,92,93 (kN/m?)
L1 (m) L1 0.800
L2 (m) L2 1.800
tang tang 0.000
tang tang . 0.700
c (kN/m*) ¢ 200.000
ql 92 q3
(KN/m?) (KN/m?) (KN/m?)
137.735 15.597 100.154

FORUMS8



- 12 -

f, Hk = H
T
S H (kN)
Hk 2 H
(kN) (kN) f. fa
232.923 128.724 1.809 1.500
2.5.3
@
@ (kN/m%)
Dr Y Y 2
0.000 20.000 0.000
A NE ()
1
a.= E(oo cc N+ B yi*BN+y;D: Ny
WA E (MERF)
2 1
e= ola cc* N+ - vl'B'NH‘Ew'Df'Nq
0a (kN/m?)
c (kN/m*) ¢ 200.000
Y1 (kN/m*)
Y 2 (kN/m*)
a B a 1.000 B 0.500
Ne Ng N,
@ 0 5 10 15 20 25 28 32 36 |40
5.3 5.3 ] 5.3 6.5 7.9 9.9(11.4|20.9|42.2 95.7
N 3.0 3.4 3.9| 4.7 5.9 7.6 9.1|16.1|33.6 83.2
Ny 0 0 0 1.2 2.0| 3.3| 4.4 |10.6|30.5 114.0
N. 5.300 N 3.000 N, 0.000
0 ()o 0.00
Ds (m
B (M B 2.600
(M L  5.000

FORUMS8
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0
(kN/n)
353.333
@
1) 1/3
Y 6e
q: B ( B )
_ DV Ge
4 = B B
2) 2/3
22V
a = —
L 3. (B/2—e)
>V (kN)
B (m), B 2.600
e (m
[1]
/7
/ 7/
/ 7/
/ 7/
/ 7/
s (KN/m?)
/S (m) -
//// X B gmin gmax
/,C’S{ 2.600 15.597  137.735 353.333
/ \
// \\
L ___ A
. 95
Q. 345
1. 300
iz
2.5.4
€))
X_ ZM_CMl'h3+sz'hZ+Cmg'h+CM4
' >V Cv1’h3+Cvz'hZ+Cv3'h+Cv4
Xh : (m)
M : (kN.m)
Voo (kN)
Ciuai M
Cuac:V

FORUMS8
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h oo Q)

[1]

1
5+ (bl4b2) ~h v
1
2

“{2bl+Ml—n2) b} -he ye
1
= % (0.600—0.600) X22.500 - K+ 0.525X22.500 + h

= 0.00000 « h*+11. 80768 + h

(” |
=V |——Gx
2

= V. [% (b1+ (n1-n2) + h) — GX]

1
= T « (n22—nl1? - . hs—z « (n24+nl) * bl yc+h’

1 1
= T X (0. 600°—0. 600%) X 22. 500 - hs—z X (0. 600-+0. 600) X0. 525X 22, 500 * h?

= 0.00000 « h*+-3. 54230 « h’

b1: (m)
b2: (m)
ni:
n2:
y c: (kN/m*)

Gx; (m)

FORUMS8
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pl
p2

Mh

= q- KA
= {gq+pt} + Ka+p2

1
= E (p1+p2) * h
= P-rcos{a+9)

1 1

= E v *KA+cos(a+6) 'hz-i-g' (q * KA+pt » KA+p2') «cos{a+06) *h
1

= E X 17. 000X 0. 11638 X cos (=30. 964+20. 000) - h’

1
+E X (27.801X0. 1163840. 000X 0. 11638-+3. 236) X cos (~30. 964-+20. 000) - h

= 0.97120 - h’+ 3.17646 « h

— H vy
2+ pl+p2 E
pl+p2 3

1
= 5 ccos(a+6) -KA-h

1 1 1 ;
+[E'q-KA+g'pt-KA+§'p2 scos(a+9) -1

1
= - X 17. 000 X cos (=30. 964+ 20. 000) X 0. 11638 = h?

1 1 1
+ Py X 27.801X0. 11638+€ X 0.000X0. 11638+§ X 3. 236} X cos (=30. 964 +20. 000)

= 0.32373 « h*+ 1.58823 « h’

= P-+sin(ae+9)
| , 1 S

= E v * KA+ sin(a+6) 'h—i-E' (q + KA+pt « KA+p2') * sin(ae+0) *h
1

= E X 17. 000X 0. 11638 X sin(-30. 964+20. 000) « h’

1
+E X (27.801X0. 1163840. 000X 0. 11638+3. 236) X sin(-30. 964-+20. 000) - h

= -0. 18814 « h"+-0.61536 « h

. h?

FORUMS8
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My = Vex
1 .
E' v *sin(ae+68) * tana * KA+ h®

L ,
+E° (q+pt) *sin(ae+6) * tana *» KA« h?

1 , 1 ) )
+ E'pZ 'tana—z'a'y + KA} + sin(a+6) *h

1
—Z- (- KA-h+pt-KA-h+p2') ca-sin(a+46) +h

1
= r X 17. 000 X sin (=30. 964+ 20. 000) X tan—30. 964 X 0. 11638 « h?’

1
+ 5 X (27.801+0. 000) X sin(=30. 964-+20. 000) X tan—30. 964X 0. 11638 * h’

1 1
+ 3 X 3. 236 X tan—30. 964 — " X 0. 525X 17, 000X 0. 11638 | X sin (-30. 964+20. 000) * h°

1
1 X (27.801X0. 11638+0. 000X 0. 11638+3. 236) X 0. 525 X sin (-30. 964+20. 000) * h

= 0.03763 « h*+ 0.23397 - h*+ 0. 16146 * h

M= Mv + Mh
= 0.03763 « h®*+ 0.23397 - h*+ 0. 16116 + h+ 0. 00000
-+ 0.32373 « h®+ 1.58823 « h’+ 0.00000 + h+ 0. 00000
= 0.36136 « h®*+ 1.82220 « h*4+ 0. 16116 + h+ 0. 00000

pl: (kN/m?)
p2: (kN/m?)
p2": (kN/m?)
pt: Xy
pt:
y - (KN/m®)
KA:
q: (KN/m?)
hd: (m)
a: (m)
a: )
5 (@)
1: 0.000 5.000(m)
C C. Cs Ca
v 0.00000 0.00000 11.80768 0.00000
H 0.00000 0.00000 0.00000 0.00000
M 0.00000 -3.54230 0.00000 0.00000

FORUMS8
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C C. Cs C

v 0.00000 -0.18814 -0.61536 0.00000

H 0.00000 0.97120 3.17646 0.00000

M 0.36136 1.82220 0.16146 0.00000

v 0.00000 -0.18814 11.19232 0.00000

H 0.00000 0.97120 3.17646 0.00000

M 0.36136 -1.72010 0.16146 0.00000

X, = 0.36136 « h* + -1.72010 «+ h* + 0.16146 + h + 0. 00000
0.00000 - h* + -0.18814 + h* + 11.19232+h +  0.00000
€
[1]
h m Vi Hi Mi Xh Mi Ni
(m (kN) (kN) (kN.m) (m (m

0.250 0.525 2.786 0.855 -0.061 -0.022 0.087
0.500 0.525 5.549 1.831 -0.304 -0.055 0.087
0.750 0.525 8.288 2.929 -0.694 -0.084 0.087
1.000 0.525 11.004 4.148 -1.197 -0.109 0.087
1.250 0.525 13.696 5.488 -1.780 -0.130 0.087
1.500 0.525 16.365 6.950 -2.408 -0.147 0.087
1.750 0.525 19.010 8.533 -3.049 -0.160 0.087
2.000 0.525 21.632 10.238 -3.667 -0.169 0.087
2.250 0.525 24.230 12.064 -4.229 -0.175 0.087
2.500 0.525 26.805 14.011 -4.701 -0.175 0.087
2.750 0.525 29.356 16.080 -5.049 -0.172 0.087
3.000 0.525 31.884 18.270 -5.240 -0.164 0.087
3.250 0.525 34.388 20.582 -5.239 -0.152 0.087
3.500 0.525 36.868 23.015 -5.013 -0.136 0.087
3.750 0.525 39.325 25.569 -4.527 -0.115 0.087
4.000 0.525 41.759 28.245 -3.749 -0.090 0.087
4.250 0.525 44.169 31.042 -2.643 -0.060 0.087

FORUMS8
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h m Vi Hi Mi Xh  Mi Ni
Q) (kN) (kN) (kN.m) (m (m
4.500 0.525 46.556 33.961 -1.176 -0.025 0.087
4.750 0.525 48.919 37.001 0.685 0.014 0.087
5.000 0.525 51.258 40.162 2.975 0.058 0.087
®
Xh = Xd
h
Xh : (m)
Xd*: (m)
h
5.439

FORUMS8
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3
3.1
3.1.1
@
2
1
3
L
/// \
/ \
// \
/ \
A \
@
(m)
% % Vi(m) g vi Vi Xi Vi Yi
1 3.381x 4.760x 1.000 16.094 | 1.691 | 2.380 27.214 38.303
2| -1/2x 2.856x 4.760x 1.000 -6.797 | 0.952 | 3.173 -6.471 | -21.568
3| -1/2x 2.856x 4.760x 1.000 -6.797 | 2.429 | 1.587 | -16.509 | -10.787
> 2.499 | —— e 4.234 5.948
XG > Vi Xi > Vi 4.234 2.499 1.694 (m)
YG > Vi Vi > Vi 5.948 2.499 2.380 (m)
3.1.2
@
[1]
W s v
(kN) X (m)
( ) 22.500 x 2.499 56.239 -1.431
3.1.3
[1]
Xp 0.267 m
yp 0.000 m
H 4.760 m
H1 4.760 m
H2 0.000 m
a -30.964 °
Yy s 17.000 kN/m’

FORUMS8
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® 30.000 °
B 0.000 °
5 20.000 °

B AR Sy AT A EHRAR A T

2
T

X
H«—
H

1.941\° 1.941 2 [1.941
+ tan’ Ea—
4, 992 4, 992 7 \ 4. 992

4.992 T
0.63183

L.o41\* 2
= 1+ 1

AT E OWEE A q,
g = v *H* I,
= 17.000X2. 588X 0. 63183
27.801 kN/m?

X m X1 X2 2
X1 (m), X1 0.000
X2 (m, X2 3.882
H, (@m

He Ho  Hi(m)

Ho (m) Ho  2.000

H, (m) H, q vy 0.588
q (kN/m?) g 10.000

cosz(d)—oa)

[ X/sin(d)—i-ﬁ)'sin(d)_ﬁ)y
cos’a s cos(a+68) |1+

cos(a+6) *cos(a—R)
cos?(30.00° —-30.964° )

cos™30. 964° -+ cos(-30.964° +20.000° )

1
x 2

{ \/ sin (30, 00° +420.000° ) - sin(30.00° —0.000° ) ]
1

cos(=30.964° +20.000° ) -« cos(=30.964° —0.000° )
0.1164

pl g K  27.801x 0.1164  3.236 kN/m’

p2= K+ ys+Hl+pl
= 0.1164X17.000X 4. 760+ 3. 236
12.653 kN/m’

FORUMS8
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p3

P1

P2

Ph

Pv

M1

M2

p2 12.653 kN/m?

P1 P2 37.815 0.000 37.815 kN

P cos(a &) 37.815x cos(-30.964°

P sin(a 3) 37.815x sin(-30.964°

+ —+H2
pl+p2 3

2+ pl+p2 H1
pl.(ﬁ )

2X3.236+12. 653 % 4.760
3.236+12. 653 3

37. 815X ( +0. OOO)

72.218 KN.m

2+ p2+p3 H2
P2 . £t baps - Hz
p2+p3 3

2X12.6b63+12.653 _ 0.000
0. 000 X X

12. 653 +12. 653 3
0.000 kN.m

M1+M2 72.21840. 000
= = 1.910 m
P1+P2 37.81540. 000

Ho tana xp 1.910x tan-30.964°  0.267

yp Ho  0.000 1.910  1.910 m

1
— + (pl+p2) - Hl = EX( 3.236+ 12.653) X 4,760

1
— + (p2+p3) -H2 = EX( 12. 653+ 12.653) X 0. 000

20.000° )

20.000° )

37.815 kN

0. 000 kN

37.125 kN

-7.192 kN

-1.413 m

FORUMS8
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7
/)
/)
/7 /
/
//
/7
/7
/Y
/ /37.125
/|
/ 7'1
/e
e
/7
7/
-~
/ \
/ \\\
/ \
L A
3.1.4
[1]
/7
/7
i
/7
i
/7
/7
// //
/// l
// //
i
i
L/
/Y
// \
/ \
/ \
/ \
Lo A
N Hi Xi Yi M MatMy
(kN) (kN) (m) (m) (KN.m)
56.239 0.000 -1.431 0.000 -80.500
-7.192 37.125 -1.413 1.910 81.064
49.047 37.125 0.564
Xi Yi
3.1.5
@
N M
oc = —*x—
AW
ocC (N/mm?)
N (N)
A (mm?) A 525000.000
M (N.mm)
W (mm®) W 45937.5x 10°

FORUMS8
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M N (N/mm°) (N/mm?)
(kN.m) (kN)
0.564 49.047 0.106 4.500 0.230
@
Sh
Tn — = T al
bed
T (N/mm?)
Sh N)
d (mm) d 525.000
b (mm)
T (N/mm?)
CNZH-% (1 =CN £ 2)
CN
Mo
(N.mm)
(N/mm?)
Sy(kN) . . CN
37.125 0.071 0.660 2.000

FORUMS8
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4
4.1
4.1.1
@
7
/7
/7
/7
/7
/7
/7
/7
/ 7/
/7
/ /7
/ 7/
/
/7
/
/
/
@
(m)
s Vi Xi Vi Yi
X X Vi(m) Xi Yi
1| 1/2x 1.200x 2.000x 1.000 1.200 | 0.800 | 0.667 0.960 0.800
2 0.734x 2.000x 1.000 1.468 | 1.567 | 1.000 2.300 1.468
3| 1/2x 0.666x 2.000x 1.000 0.666 | 2.156 | 0.667 1.436 0.444
41 1/2x 0.144x 0.240x 1.000 0.017 | 1.296 | 2.080 0.022 0.036
5 0.200x 0.240x 1.000 0.048 | 1.444 | 2.120 0.069 0.102
6| 1/2x 0.390x 0.240x 1.000 0.047 | 1.674| 2.080 0.078 0.097
> 3.446 | — e 4.866 2.948
XG > Vi Xi Z Vi 4.866 3.446 1.412 (m)
YG >z Vi Vi > Vi 2.948 3.446 0.855 (m)
4.1.2
@
[11
W % v
(kN) X (m)
« ) 23.000 x  3.446 79.260 -0.112
4.1.3
[11
Xp 1.300 m
yp 0.000 m
H 7.000 m
a 18.420 °
o, -30.964 °

FORUMS8
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S 17.000 kN/m?®
0} 30.000 °
e} 2 30 20.000 °
Wi 10.00 ° 85.00 °
(w) W) *)
hw 0.000 m
W(kN)
W) P (kN)
46.00 | 475.662 0.000 33.664 | 509.326 112.425
47.00 | 452.822 0.000 30.678 | 483.500 113.036
48.00 | 430.713 0.000 27.789 | 458.502 112.993
w 47.00° P 113.036 kN
b Wesinfo—¢)—Prrcos{o—d—ao—0)
cos(m—dp—a—190)
483. 500 X sin(47. 00° —30.00° ) —40. 909 X cos (47. 00° —30. 00° —-30.964° —20.000° )
cos (47.00° —30.00° —18.420° —20.000° )
113.036 kN
Ph P cos(a &) 113.036x cos(18.420°  20.000° ) 88.562 kN
Pv P sin(a &) 113.036x sin(18.420°  20.000° ) 70.242 kN
H, 3H;+H, 2.000 3X5.000+2.000
Ho = — = . = 0.944 m
3 2Hi+H, 3 2X5, 00042, 000
X Ho tana xp 0.944x tan18.420° 1.300 -0.985 m
y yp Ho 0.000 0.944 0.944 m

-
~—

>
(-

- Q
~— N

Hi o BeRE o LE/EAE S ()
Hy o FbeRE D HE/EAE S ()

FORUMS8
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4.1.4
[11
/7
/7
i
/7
i
/7
/7
/7
/7
/7
// //
/
/ /
—(/ /
/Y
// \
/
/ )
/ \
AN
N Hi Xi Yi M MatMy
(kN) (kN) (m) (m) (kN.m)
79.260 0.000 -0.112 0.000 -8.885
70.242 88.562 -0.985 0.944 14.421
49.829 40.162 -0.439 2.120 63.269
199.331 128.724 68.805
Xi Yi
4.1.5
@
N M
gc = —*t—
AW
ocC (N/mm?)
N )
A (mm®) A 2600000.000
M (N.mm)
W (mm®) W

1126666.6x 10°

FORUMS8
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M N (N/mm?) (N/mm?)
(kN.m) (kN)
68.805 | 199.331 0.138 4.500 0.225
@
Sh
Tn — = T al
b-d
T, (N/mm?)
Sh N)
d (mm) d 2600.000
b (mm)
T a (N/mm?)
CNZH-% (1 =N =2
CN
Mo
(N.mm)
(N/mm?)
Sy(kN) . . CN
128.724 0.050 0.440 2.000

FORUMS8
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5
5.1
1+q3 2+q3 H
Ht T D11 (tang —tand D+ —— 12+ tand e 11 | —
2 Hk
Ht - (kN)
c (kN/m?), ¢ 200.00
® ( )(C ), tang 0.000
tand : , tand 0.700
ql : (kN/m?)
q2 : (kN/m?)
g3 : (kN/m?)
11 : (m)
12 : m
Hk - (kN)
H (kN)
ql g2 g3 11 12
(KN/m?) (kN/m?) (kN/m?) m m
137.735 15.597 100.154 0.800 1.800
H Hk H/HK Ht (km m)
(kN) (kN) kN) )
128.724 232.923 0.553 91.913 18.383
X 0.2000 (m
5.2
@
U
. E
[BAZ : mm]
E m|

FORUMS8
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(cm) (cm’/ ) (cm?)
1 10.0 D13 1.267 | 4.00 5.068
2 N - N
1 — E— —
ot _ _
2.654 (cm?)
@
2+n
S {As+ =)} =0.0
LVxzRDD,
M
g, —
b x h x (x—d) + (h/2—4d)
*|=——)+n-As-
( 2 3 ) X
d—x
O — N O¢°*
X
X (mm)
h (mm) h 500.000
b (mm) b 1000.000
d (mm)
As (mm?)
n n 15.00
e (mm)
oc (N/mm?)
os (N/mm?)
M (N_mm)
M X (N/mm?) (N/mm*)
(kN.m) (cm)
18.383 7.076 1.380 7.000 96.357 180.000

FORUMS8
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©))
S
Ty — .h é T al
bej-d
T, (N/mm?)
S, (kN)
d (mm)
b (mm)
) (N/mm?)
Su(kN) d (cm) J . . .
91.913 40.000 0.941 0.244 0.360 1.600

FORUMS8
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